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6-10 Probability

stagl,

favorable outcomes

Probability =

possible outcomes

P (heads) =

stop

Tally: heads
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2

tails
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What is the probability of spinning green?

favorable l
possible 11

If we spin the spinner 100 times about how many times would you

expect to spin blue? L
e bt QS g /0o
500 times? DS-% -]00

GLavf’, 1S

P (Green) = O
P (Orange) = ;2
Plete)=% =75

P (color that starts with a consonant) =
7

P (color that starts with a vowel) =

O
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What if we spin the spinner 50 times about how
many times would you expect to spin red?

Tl-u' SO =126 —%‘-’ 2SSO
Os\pow‘\' |‘>'of|">

About how many times would you expect to spin a
color starting with the letter "b"?

it 22

L

>
Plodd#) = = = o

P (even#) = :i
\

P(5) = —

) G

, 2
P (multiple of 3) = : =

P(7= O

1
3
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If we rolled a die 200 times, about how many times would
you expect it to land on a 2?

20
-“‘; . 200 —-—ga ot 33-3Y

If we rolled a die 200 times, about how many times would
you expect it to land on an even number?

@‘2»\/\' 0O

If we rolled a die 1000 times, about how many times would
you expect it to land on an even number?

Qe 500

_| No repeat \_{
P (Ace) = F)_
P (Spade) = ! I>
GO 5 5%
P (Face Card) = _';D:
5

26
P (Red) = —\‘5‘ _%’_l
P5) =

=
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1. Each time you spin this spinner, how , O
many equally likely outcomes are there?

2. Find each probability if you
spin the spinner once.

a. Pleven number) __“L:
10§

b. Plodd number}

c. P("A")

3. If you spin the spinner 100 times, about
how many times would you expect it to
stop on:

a. an even number b. an odd number
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5. H a raindrop falls on this set of tiles, how
many equally likely outcomes are there?

6. Find each probability if a
raindrop falls on the tiles.

a. P(falling on black)
b. P(falling on white)

¢. P{falling on green)

9. Suppose a bag contains 12 green cubes,
5 blue cubes, and 3 yellow cubes. Find
each probability if you choose one cube
at random:

a. P(green) b. P{blue)
c. P(yellow) d. P(not blue)
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10. If you spin this spinner
600 times, about how
many times would you
expect it to stop on:

a. 81
b. 85
c. S10

13. Suppose you do a survey
to find the blood types of
200 people and obtain the
results in the table,

Based on this data, find
the probability that a
randomly chosen person
has:

a. Type Ot
b. Type A~
c. Type B~ :
d. Type AB* or AB~ AR
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